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General Enstfuctions
1. This question paper consists of four sections
SECTION -A (READING)-10 MARKS
SECTION -B (WRITING) -15 MARKS -
SECTION -C (GRAMMAR)-10 MARKS
SECTION -D (LITERATURE)-15 MARKS '
2. Read each question carefully and follow the instructions.
Yot 3. Attempt all the questions in legible handwriting. ;
4. All the answers must be numbered correctly as in the question paper.

SECTION —-A (READING) ‘ (10 Marks)

1. Read the following passage carefully
What is the source of life? All our civilizations came up next to rivers. Over the years, rising
populations, growing industrialization and expanding agriculture have increased the demand of
water. New technology like borewells and water pumps help us suck water out from great
depths beneath the surface of the Earth. At the same time, we don’t replenish this water.
(Para-1)

In urban areas, the construction of houses, foot paths and roads leaves very little exposed
earth for water to soak in. Forests have been ruthlessly chopped down, h111s1d_es stripped off all
their greenery, thus allowing rain water to flow down slopes unchecked. Flood water quickly
flows into rivers, which dry up soon after the rain stops. If this water could be held back, it
could seep into the ground to recharge ground waier. : ‘ (Para -2)
The idea of recharging ground water through rainwater harvesting is becoming popular in
many Indian cities. Rain water harvesting essentially suggests collecting rain water and storing
it for later use. Not only does this stop ground water depletion, it also raises the water level
and helps supplement water supply. This artificial recharging stops the drop in ground water
levels and conserves the surface water that runs off during the monsoons. = -~ (Para -3)
1.1 On the basis of your reading of the passage, answer the following questions. (1x3=3)

. a) What are the different factors for which the demand of water has been increased?
b) What is the main reason of decreasing ground water in urban areas?
¢) What do you mean by ‘rain water harvesting’ ? ,

1.2 Find the word from the passage which means the same as: (1x2=2)
i)  under (Para-1) o
if)  fill up something again (Para-1).




2. Read the following poem carefully.
Pink are the young leaves
Bright and cool
As the quiet waters
Of a jungle pool.

Loud calls the Koel

From the tree

At dawn and in the sunlight
And at the dusk calls he.

Peasants plough slowly
Earth’s dry crust

Tilling the soil

Before green blades thrust

Rain falls earthwards

Wild winds sing

Bold and fierce yet loved

Is the Indian Spring. - _ T ,
2.1 On the basis of your reading the poem, answer the following questions by choosing the

correct options, o (1 x5=5)

a) The poet compares the young leaves with :

i) bright and cool water

ii)  the sunny and hot atmosphere

iii)  the quiet water of a jungle pool

iv)  the loud call of the Koel )

b) The farmers plough their lands slowly because

i) the soil is too hard and dry

ii)  they have good crops

iii) it is spring season

iv)  they are tired and weak

¢) The poetis *

i) writing about Indian seasons

i)  giving tips for farming

iii)  praising the Indian spring

iv)  none of these - _ _

d) According to the poet, the Indian spring is

i) calm and beautifiil

if)  colourful and sweet

iif)  creative and happening

~1v) - bold and fierce
e) The rhyming scheme of each stanza is
1) abab ii)abcb - iii) abbc iv) aabb
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SECTION -B (WRITING) | (15 marks)

Now a days children spend a lot of their time before the computer, playing video games or
surfing the internet. They hardly know how dangerous computer and internet are if used in
excess. Draft a thought-provoking poster so that children can be made aware of the bad effects
of this misuse of computer and internet. €))
You are Shankar Roy. You wish to stay back in your scheol hostel for two weeks during the
Summer Vacation to participate in a skating competition. Write an e-mail to your father
informing the following points. (50-60 words). ' @
-want to stay back o

- skating competition

- best school skater

-winner to skate in Switzerland

- will reach home by 3™ week of May

Here are some points on the life of Rabindra Nath Tagore. Write a bm sketch on him in

100-120 words by using this information. ‘ -

Born in 1861 in Calcutta and died in 1941 at ti“e age of eighty, youngest son of Debendra Nath

Tagore, a leader of the Brahmo Samaj.

Education: educated at home, later on sent to England for formal schooling

Achievement and awards: a very famous Indian writer, poet, music composer and a painter,
composed the Indian National Anthem, Jana Gana Mana, the first Asian, snh Iﬂdian to receive

the prestigious Nobel Prize for Gltanja iin 1913.

: _ -OR .
Develop a2 meaningful story using the following outlines and your own ideas in 100-120

words. Write a suitable title and a moral for it

A boy — small and weak- poor parents- scarcity of food - poor at games and studies — friends |

ridiculed- promises to be first — practises a lot- gets a chance to play a match- everybody
laughs - boy’s ﬁn\, performance brings victory to his school- everybody loves and admires.

SECTION-C (GRAMMAR) (10 marks)

Complete the conditional sentences.

a) If the weather becomes fine, : ' . SR o (A x2=2)

b) If we follow the rules and accept the advice of our coach,

Unscramble the jumbled words and phrases to form meaningful sentences. The first one
has been done as an example. - (1x 2=2)
a) experience/journey/ is a/ train/pleasant/ by/ a

e.g.- Journey by a train is a pleasant experience.
b) all/ and/for/safe/both/it/comfortable/is

¢) is/an/a/our/image/society/train/of




8. Complete the paragraph by choosi‘ng the correct modals, | - (0.5 x 4=2)

In life you (a) (may/can/should/will) have patience. Patience ®)y____ (may/wilV
might/ shall) overcome everything. Failure comes to everybody but you (c) (might/
must/ can/ may) not be discouraged by it. Nobody (d___ (should / might/ will/ ean) say
* that he/ she has always been successful. _ ' ‘ ‘
9. Fillin the blanks with correct Reflexive’or Emphasizing pronouns. f (1x2=2)
~ If you need your money back, you (@)_____ have to write an application but sometimes we
(b) . are ignorant about it, | | o
10. In the following p’assage there is an error in each line. Find out the error and write the
correct one in the answer sheet against the correct blank number as given below.

; (0.5 x 4=2)
Incorrect word  Correct word '

There are six species in tiger (a) in of

still of existence. They are (b)

found among Siberia, India and (c)

some parts by South-east Asia. (d)

Now a days they are seen less of (&

number as people kill them mercilessly .

SECTION -D (LITERATURE) (15 marks)

11.Read the extract carefully and choovse the correct options:

o —

“ Trees pass away, their roots dry up,

They fulfil their lifelong deed.

But if you look, I'm sure you’ll find,
- They’ve left behind a seed.

a) ‘Trees pass away’ means they . . : o v (1x3=3)

i) are cutdown i) are bumnt iii) are uprooted by a heavy storm
iv)  wither and die naturally S

b) Tinally, before their death, trees give us

i) fruits to eat ii) flowers to enjoy  iii) wood to use iv) seeds to grow more trees

¢) The life long deed of a tree is to

i) produce new leaves and branches
ii)  serve mankind
‘iii)  breathe life into a seed

iv)  see many seasons of a year




12. Answer ‘Any Four’ of the following questions briefly. ) (1x4=4)
a) What happened to Janaki when she was two years old? [The Féarless .Fighter]
b) What is an old fashion as per the poetess? [ Fve Got e-mail]
¢) Who was Leezok and what problems he created for SRO? [A letter from a Robonaut]
d) What did Sachin and Neha’s father tell them seeing their cleanliness drive on the beach?

[The Green Act] | ' ' '

e) How does Mataprasad love trees? [Love for Trees]

13. Answer ‘Any one’ of the following questions in 30 words. - 3
“ But all the problems in the sea were forgotten as she swam to victory”. Explain how Janaki -
was able to swim to victory. What values does she possess to overcome all the hurdles of her
life? [The Fearless Fighter] ’

: OR _

“The world is heating up. And I'm sorry to say it’s all people’s fault”. Who said it? What
values should we inculcate among us to stop this global warming?[ It’s Getting Hotter]

14. Answer ‘Any one’ of the following questions. . _ 3
Imagine you are Mrs Stephanie and write a diary entry expressing your happiness on tracing -
the hacker by the help of five chums. [ Five Chums and the Hacker]

OR ,
Imagine you are Sachin. Write a letter to your friend discussing about your achievement and

inviting him/her to join your green club on facebook. [The Green Act]
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General Instructions

1. All the questions are compulsory.
2. This question paper contains 28 questions & divided into 4 sections.
- 3. Section —A contains 1 mark questions
Section —B contains 2 mark questions
Section ~C contains 3 mark questions
Section —D contains 4 mark questions

4, Verify your answers thoroughly.

SECTION -A _
Choose the correct option. (1x5=5)
Ajit’s father is 56 years old. He is 8 times as old as A_]lt The age of Ajlt five years from now
is :
a) 15 : b) 14 ‘ c) 12 d) 13
. 2 ) ] ™ ~erp Ty - 7
® i 10| % g 12 ?
5 2 ‘ 3 |
a)22 o b) 33 - 0)43 . d) 87
The greateﬁt 5 digit number using 8,0,4,7 if repetition is allowed is _
a) 87400 b) 77840 c) 88740  d) 84074
Pencil: Pen :: Cricket : ? '
a) Ground b) Pitch c) Players  d) Tennis
4B BC AE BD CF |
3 J 5 § 6 H 6 L ? .
a) 5 b)6 c)8 d9 ,
Fill in the blanks. It S (ax10=10)

9526+___ =09526 | ) |
399.5 rounded off tonearestonesis
While rounding off numbers to the nearest ten lakh we look at the d1g1t in the
place .
16 % 0f 20% of 12000km = : km.
The simple interest on Ra .600 for 2 years at 25% interest per yea;r is
f_*_ =__ % - v
276.85 rounded off to first place of decimal is
7.5+ 1000 =




14. The value of 114 + 2 of 3is_ : : ‘
15. A triangle in which all the sides are equal then measure of each angle is

SECTION -B ' 2x6=12)

Answer the following.
16, Divide 2.2715 by 7 . : ,
17. Add the greatest 6 digit number to the smallest 7 dlglt number and round off the sum to the
nearest lakh. :

18. Find the average of first 4 odd multiples of 3.

19. Sandeep bought a motor bike for Rs.39,000 and fitted new accessories of worth Rs.780. If he
sold it for Rs.42,900, find his profit or loss.

20. One non equal angle of an isosceles triangle is 70°. Find the measure of other two angles,

21. Hthe measure of one angle of a right angled triangle is 42 find the measure of other two

angles.

SECTION-C (3x5=15)
Answer the following, o ’ :

22. Simplify: 9.5+ 12+ 0.6 X 2.5—-3.5. ‘ ‘
23. The average salary of 30 employees is Rs.6500 and average salary of 20 employees is

Rs. 5600. Find the average salary of an employee.

24. Mr. Kapoor bought a car of Rs.5,70,000. He sold the car to his fnend of Rs. 5,80,000 for
buying more luxurious car during winter season. Mr. Kapoor decided to buy the blankets
with profit of the car and to distribute it among 20 needy poor people. Fmd the profit and the
cost of each blanket. What value is depicted by Mr. Kapoor?

25. Subhashree borrowed Rs.6000 from Priyanka at 8% interest per annum. After 2 years
6 months, she returned Rs.5500 and a mobile phone, Find the cost of the mobile phone

26. Mr. Aggarwal purchased the following m@ms from Subas Vanety Stcre, Ashok Nagar on 20®
December 2016.

i) 6 kg rice at Rs.38.50 per kg

ii) 3 kg sugar at Rs.55.50 per kg

iii) 2 kg dal at Rs.83,50 per kg

iv) 500 gm surf excel at Rs.180 per kg

If Mr. Aggarwal gives the shopkeeper 4 five hundred rupee netes how much money does he
teturn back? (Prepare a bill). .

| S»ECTION D . @x2=3
Answer the following, ' : :

27. Reena bought 95. 65m of cloth and made 12 curtains of same size for wmdows and used the
remaining cloth to make 10 handkerchiefs of same size. If she used §.34m of cloth for
making each curtain, then find the length of cloth used for makmg gach handkerchief.

28. Sunil earns Rs.60,000 per month. He spends 40% of total money on household expenditure,

25% of total money on miscellaneous expenditure and 20% of household expenditure on
education of two children. Find the amount for household expenditure, mlscellaneous
expenditure and the expenditure of each child.
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General Instructions

1. Attempt all the questions.

2
3. Write in neat and legible handwriting. -
4

. Read the questions carefully before. answermg

. This question paper contains three sections,
Sec — A carries 1 mark questions.
Sec -B carries 2 marks questions.
Sec — C carries 3 marks and 4 marks questions,

c)

d)

e)

SECTIOIN -A
= = en /

Choose the most appropriate option. - (1x5=5)

The liquid that sinks below water is - | o |

i) milk ii) mustard oil iti) carbon tetrachloride  iv) lemon juice
‘Which of these is not a fossil fuel?

i) biomass ii) petroleum iii) pgg! : bi'v) haﬁlral gas
The oxides of sulphur and nitrogen mix with water and oxygen of air. This results in-
i) global warming i) ozone depletion  iii) acidrain  iv)deforestation

The correct statement among these is-

i) Venus lies beyond the earth in solar system

ii) Uranus is a jovian planet.

iii) Saturn is a windy planet.

iv) Jupiter is the 2" largest planet.

The big dipper is the part of constellation
- i) ursa major ii) ursa minor iii) orion = iv) cassiopeia
Fill in the blanks ' - (1 x 5=5)

2.
a)
b)
c)
d)
€)

A rebat is commonly used to draw ground water for

The medium in which a substance is dissolved, is calleda ______
Coalisa black sedimentary rock.

Astronomer found that orbits of planets are elliptical.
The constellation is visible js-abtumn.

1



3. Answer the following questions. S . (1x5=5)
a) What is ground water? | '\ ‘ | |
b) What are amphibious a.mrnals‘7

¢) List any two fuels which are obtamed by refining crude oil.
d) Define the term ‘constellation’. '
¢) Why does pole star appear o remain fixed? A

SECTIO]NJS//, |

4. Answer the following questions. - ‘ (2x5=10)
a) How can ground water be drawn out through tubewells? . |
b) What are renewable sources of energy? Give two examples of such sour‘ces‘f .
c) Differentiate between Natural satellites and artificial satellites (anif two)
d) Why do we see a whole different set of stars in the sky after every six months?
e) How do stars vary with each other? N
5. Give reasons for the following, ‘ | - | (2 x2=4)
a) The window panes of a closed car, w1th people sfttlng inside, often get foggy in winter.

b) Venus is the 2nd planet from the sun, Bt it is the brightest and hottest of all planets

SECTIOIN -C ‘
6. Answer the following questions. = ‘ 4 (3 x 3=9)
a) List any three ways in which water is important for plants \
b) i) What is global warming? ' .
ii) Deforestation leads to global warming. Just]fy the statement.
¢) Asha is a social worker. She goes to villages and educate’ peeple about healthy living. She
found that women in villages are using wood and cowdung cakes for cooking. Asha
informed them about Government’s scheme and told them to use cleaner fuels
i) State the values shown by Asha, '7 | mubxr how <
ii) List any two cleaner domestic fuels that you think Asha has has suggested to the villagers.
iii) What are the disadvantages of wood and cow dung cakes as fuel? '
7. Answer the following questions: ' _' (4 x 2=8)
a) What is air pollution? Briefly explain any three ways by Wthh we can reduce it.
b) i) How much time does the earth take to revolve once around the sun fomgﬁte one
rotation about its own axis? \
i) - Write the conditions essential forW g oflife on earth

8. Draw a neat and labelled diagram of ‘water cycle in nature’. . (4x1=4)
2 ’ -
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-General Instructions:

1. Attempt all the questions.

2. Write the answer in a legible handwriting.

3. This question paper contains three sections with 8 number of questxons .Section-A
contains 1 mark questions, Section-B contains 2 marks questions, Section-C contains
3 and 4 marks questions and a map question carrying 3 marks.

4. Verify before submitting the answer paper. :

5, Attach the map with the answer sheet.

(SECTION -A) |
Q.1. Fill in the blanks: ~ (1x5=5)

a) Khud Khargosh is a famous ____speciality.

b) The work of Taj Mahal was built on the bank of River
c) The _ : ofthe earth is tilted.

d) The means of transport are known as the of a country’s economy.
e) Twitter was created in the year | L
Q.2 Choose the correct answer from the following options :- : | (1x5=5)

a) Where is Lake Palace located?

i) Udaipur ii) Jaipur i) Bharatpufg S iv) Ajmer
b) Which is a built heritage? | o |
i) Water i) Literature iii) Land iv) Monuments

c) From which country Ferdinand Magellan and his crew began a voyage?

i) Japan ii) Spain iii) China iv) France
d) Which is a renewable source of energy? ‘. |

i) Wind - CNG il) Coal ~ iv) Petrol
e) Which is not a social networking site? o -

i) Godglé- i) Twitter i) ‘My Space ' iv) Face Book

1



Q.3 Give answers in one sentence: | o (1x8=8)

a) Which tribal group of Andaman and Nacobar uses a !ot of jeweléery to adom their bodies?
b) What is commonly known as Pig festival?
c) Who was Mumtaj Mahal? ,
d JHow many years it took to complete the work of Taj Mahal? |
e) Which is the best mode of transportation for natural gas?
) Write the full form of CNG. | |
g) Which means was used for sending urgent messages through a system of codes?
h) Mention two cities of India where Urdu is widely spoken? - o
4 (SECTION -B)
Q.4. Answer the fallowing:- - © (2x4=8)
a) Why is Andaman and Nicobar Islands famous as Mini India? '
b) Monuments have no voice. So you must have to speak out for them. Explain.

c) Differentiate between a globe and a map.
d) What is teleconferencing?

Q.5.Give reasons :- o - R © (2x2=4)
a) Video conferencing is perfect for staff meeting. o
b) India is known as a peace loving country.

_ - (SECTION —C) _
Q.6.Answer the foiicwmg questions:- o » ‘ (3x3=9) |
a) Why is it important to respect regional differences? vae three reasons. ' |

b) Archaeological Survey of India (ASl)is an organisation which works for the preservatson
of monuments. : .

i) In which two ways can you help to preserve the monuments of India?
ii) Name any two monuments of India.

¢) Write a short note on SAARC.

Q7. Answer the following questions:= o (ax2=8)
a) Explain the two movements of the Earth. V |

b) In which four ways are railways better than roadways? _ _

Q.8. On the outline map of India, locate the fbllowings:- | - o (1x3=3)

a) An island group located in Bay of Bengal.
b)A North-Western neighbouring country of India.
c) A state with highest literacy rate.




.




D.A.V. PUBLIC SCHOOLS, BHUBANESWAR
SUMMATIVE ASSESSMENT -1l (2016-17)
CLASS -V

SUBJECT : HIGHER ODIA
Time~2HOURS | . F.M.~-50

ARIQE FERSIQR! : |
0.  QlIEF ggUeda Qnaise FIREea aF |

9. ggaaedea QfQIL SRS dals 8 ROF gde gy ud
N. e dEQ QEOQ YO LI QEIQLEA 66 |
<1

AL 000 6RFAIGS| U960 YR Ia 9% a9 |

Q- Sald
R. QF6QSUARYR AT UG ULTRR QA6 MG | (RxB=%)

RS'TEF, AYAS, PSSR QU iR Y QAT AFRY SI19IE IS8T 9869,
BIPQ8 FlR RITEQ, Q85IER Q8 AixY, 2GS SRR 608 QIR 0 | QRRQ QE®
AFIEL g8l 661IRT, T 61 TIRQIQ QST AFALF Rl QAN | 6066 QIR JIRSR & fIe

< o~

WEEQ Sl PSR FIR, ISt FISRE! | 604 Y& dinlq 626m IIT6F 2iF ARTE SIe
QEIQIR OFQ | FIPQ SIIE TIR A 2IRUAIRF om JIR J8Q! | ZISA 2UFIRE R Tiesm,
62FIB FRI AR Om JIREQ | ZRUAINR ITFER 2l FIDS SIRIT AR 2GS sAIER
f060 G908 8 gdl e 98 @8I0 1 69TaIE Y5iER 0EQIq 626R AP BBsa: |

Q o
Sal FQl, ZOUIPE BERIAR! PAQ, FPEOSQ o ARl aficm ZiIF Tkl 1 F
6210000 Qoo 8 2indNa | AF8T BIFG ZUASIR IS5 |

i

7 (@) 2IFR 1 Qe 6eehieda QIKgh 2IEs 7

(&) 981 VIR IQ 626m ATTUEA AR '8l @0 Afe
(61) 8’8l @6 2IIFl Qlel @ @Fl g0 @ 2inds asmam?

(@) 2l 6t : 86 - (ST, 2IFISPR, A5 ¢RI, FePe

(@) QEF ARG 6 1 0RG - (RS, G @@5,-@@@1, Q1)
‘o’- Q@G
9. 64 6@16F 66T SAYER UREPD QS | (&xe=¢)
NRGIT AR, Q10 YEaR AN, §I6 9G,
M. 9 Kl QG QS | S | - (8%xR=%)

—

G661 QY 6IR 60 O RIF & Qe @ @l oL, ClYl IR FIEF Peda IR 8Mmd |




@cll

@fl 2!8@66) QR SQYe, KIS 6208 G!@IQ Jeei 996@ Q@i@ @@m@

280 I0R Pacq Q@6 6@t |
‘of’- Q@I

| ¥. (@) @91 FrIig 0% 0eed QIF FaAde seqsen SaqieideRrIA €@ 6RE |

i &lell- (oad@2l, a8al, I, sl )
iy fee- (G6eQ, 6rne, G6P, f96)
iy Gea- (Q@Ql, seal, &l 2ees)
(@) GRG0 SRR EIR QR FRINY QIE 66t |
h aaee- (6RQee, 9@, AfQ, sl )
i oae- (gal, o, oW, 2RE)
iiiy @&lI- ( 2Q6l, €SI, QI, AIRE)
(@) e 9969 gRIS @9 | o
h 60Qf 6QRaN@ - »
i a8 @ 62Ia F1RI G a@@@@ @4l a@@— -
i) QIPIR AT R-
(@) oF @1ed6xd QIR 6536R aage @s; a2l |
h AR @k 62X TR
iy da, 2Fe §60aq
i) IEOM FIEARF SIS ) @@@ eda
(@) frRde saqgea sy d smal 1 (M)
aAQQ, €188, 9Qél, BIQQE! :

‘- Q@l’é‘i

8. (R) QR FRINQ OR, Qs @8 Heade aeqden eief eREt |
) gQE - (aedel, geR, sadiel, ediel)
i) TEQRSER - (QIEER, PAER, ARER, OVIERN ).
i Qoo -  (efee, ZiRe, ek, odl)
v) e - (2ige,” &g, e, )
(&) @INsI00 @ | (98Q) . |
QRIR, KRR, AR

9. AGR QAU QIR ERE | |
“2lgIF FPR P TERE FINER 2IIF AR I”

(@ xM=m)

( R xfn:"ﬂ)

(Q'xm'::m) o

(exq=m)

(0.8x¥=9)

(€x9=9)

(¥xe=Y)



@ell
“CEAReIR  neq Qf
QIR 2licy 24, '
6929 86  AQE IS
60! QRG Qs 1”7

©. afmbe géj@lé@@ QAQ AT QIRIER 6RE | (¥TQ). | (ex¥=%)

(8) 6QI6QC @RAIRIR 606015 RIFQ IF 6 |

(6) QQEIY QE2UR ERSIER 606! 2R TR QLITIRE ?
() QIREEGRI G~ ? o
(Q) IR O/ RIQQ QIR ?

(@) QID F86e QIS 621 SISFNIES ISl IRIS @Eed ?
(@) AFIR e @G §6Q12 @6Q ?

. 9F RGGrsd 9@ QIR 9E69aa Qa9 6Rd | (@ xm=an)

e @8 @QER, “a6tl -
R SIRG IS 6611 62
dQ F6UIER KIEE TFlal
Fodcedgsneaqe!l
QEF ORAG QR 61
0B6m BFR 608 86
OrU6Q RIFE JIfG 660
6262 Q! QN AR SIaG 17
dgl-
(@) @dle &7
(61) 69 26l @RUGF (1@ AEQIR ALR @@ RIS FER 7

Q) RIPIQ 2F 1@ B Fél 692 QIR YOIBR QAITIRE 7

¢. NTSAU Y T AR QAR Q6 | - - (M xR=mM)
NIEFIRe eI d6m 6Q1A 6a6! @2l FSINgE ?
‘ aal '
2P AFC 626M @& ?
RO. Q6CIEQIR HRQ Al2 FRNEF RN FITQ] IANER &' @FTR ? DI 1B
@25 QEF1 64 QUSRI S @ ? (9xe=9)
el

QYS! RIYR A ? 1RQ QIR 266 666 RIS R S 2SQIGE ?

3



\\\

A

DAV PUBLIC SCHOOLS, BHUBANESWAR

SUMMATIVE ASSESSMENT - II (2016 17)
CLASS -V

SUBJECT : LOWER ODIA L
Time -2 HOURS o F.M. - 50

QRIS FERANRT
e. gelesl ggaedq QARIES aqcen o |
9. ggaedieq AqQIa SleT Iald G eod fee 99 o8 |
9. g6GUS GEIQ AR IO UVACA FANQLAER 6RG |

¥. 2718 R0Q 6RFAGT d6a gadia g ea |

‘@’- dalel |

2.2Q6eedq 95 94GFen A 6nd | | (e xM=m)
BF9IQ FEFR FACIR 2RIPER YIS ¥ 9 2RIQ Q6 FERIFTR FEPm Q2801 696R QIR
SIS 2RIPER TIF 9 9 29I @6 FERIAC aerm 218 | 6@@1@ QSR Sl J2si,
§ig 8 RIS YYS gRIRIR IO, 698, QI FiR | QI8l, g4l A, disk, OFQ! G
PRI YYE GO 2QdHe GOS F6R | RIERE 8 SIRAB P QQILIN | 6RTS QIQY
o2 28 Q@ 99 | dlse QECL MRYIRQ PRI §EY soR Fism | BFSIQ 2adH
AHRRQUIR AR 2R 2RYQ QRS 99 | 2AUFIFE MUFFIPR RN TUREHG Sl 681Q)
06 | FIASHe g6R QOR WEfm 8 AR QAR | AR AAHR IR © AR
PRQI TR YOIR RUNIS AT | 68¢ FEIER 2B | “CI 2F6R N6, @@’f’v OEM
QRS I’ 21I6F1 AFIEY T AR QS KGR IR SITE 60! |

@) BFIIQ 2SR @'€ Fis@ ?
&) AR TIEHQ IS @ 62EM K1 699 ?
o) 2NEM A QI QAUNIQ RS Qg 7P

) gNYIP YNE Q| e o (ex9=9)
i 3oSIQ QIeg falc SIeeQ QI @Q‘@é@iﬁ@@@@f@gé (52, 99, ¥9)
i, QR @RI RV | (RIS, 68908, QqaIs o)

‘-Gl RO
9. 26D cadl | | _ ,_(8;}%_9:8)

el 6Q<]



‘o’- gl

7. 29060606 | o . - (exy=Y¥)
¥ - 2EOIRS, WD, LIRS |
N8 - CROIRE, YGRS, ABERS
¥N- 60aRE, 6669, 6oas
MR - YRQIRS!, YRGAS, oaffs L |

¥. reIER smet | S - | | (@ x¥=Y)
BAGS-,  2OBAS -, QolE-, ofs- o

%. S2AINYR! RINQ Q61 Q0T 66N 616 said | | (0.8xIr=%)
.  a, <-, < |
9.901F 64 I | | | | (@ xn=m)
gae -, oY~ @R - S |
| ‘- Sale |
°. 6&:.01&24@1 a&ol ﬂuqs;a @161 66115~g 9@@!@ delel 2loAUIG e@E | | (o:&xr:b’)
NROIR QR
aal

A2l IR 6F1IQ &I6Q 69Q
r. deigio gad e | . | (ex¥=Y)

@) afcle__ ceagieden!
(R 12141, QIOFE ARIRL, 658 FRIRE! )
e gad SoEQ a@é 9213 |
(S, a9a,  qea)
NAFIRGKAS - Solen Iage ARIPII
(Qeial,  ogd, asgen) ”
Q) FARIAIN 6T FRERR _ 96aaIRe @QITN |
- (gebeq, QrIeeifeg, dgied) |
O QicoReR]l | o o : 4(e><9=9) |
sa -, QU - | | |



RO. WBARFISE QRS2 QF AR 2IFQ SIgE PQIUER | RIGQ T ﬂ@igi%‘ﬂﬁ@i S@QQS@ S
QRIS CLRARI | 2Fl RIS AGIRIER G608 aef 26 | 699 QgF JIea gere |
URIREP SIFR YOIR | IQREF 6FRIR IOTR | FIRER 2RI 2I6SIIR O a;@m Q&P 2I6S' |
NZER 9BC 2R 2R | 921 QISR YO 26T | ZIRa S5 fINR @18 | 6o Q@6 Al
69 QAT SR 2SR | o - ~ (ex¥=Y)
PSR A YT QR Smdt | |
@) 2SR ORER 6631 2Q 2R ?

61) QNP 2IFERSIQ CREERT UG SIIP GREEM ?
6l) 6RGFIER AQ RN PIERG ? ,
9 2UA RIS AeIRIER g QSFQ@QQQ!Q [S=N
R R. 64 6RI614 QI6QIT Yo AR 6QRE | . ' - (9x¥=r)
@) @'¢l6ag QTR AT [P G ?
§) 6ITIRG @ 6 66858 603 7
o) RN 60 s SRR eGgm 7.
Q) 952 efg FOd adq el ? -
@) QLR 6RQ 606! 0IQR ARG ?
Q) QEF1 QLR TR AR FIIZI Q'S K@ P
R 9. 6416a161A 66115 A QAR 6QE | _ | | (Mxe=m)

01 QIRE 2 Fefisq OdeRl? ediee 21016 Had 525 Qlon eQsasm ?

dEFriean 1@ 10Q §6f 606 gnusall S8l eQe ?
@ell
ICAAISE ARIQEISE & & AS AR @Q ? NG A AREQ 2EF 6REGT IRUER! S8l @,

- Wt |



Time — 2 HOURS
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